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id i Q.1
white correcting fluid is not allowéd.
i 1 /ith HCI to form: .
. szijclf:)}gzr;t;olglzmes ' 1(B) Benzene (C) Chloroprene (D) Divinyl acetylene

i i () . .
= Whl(%sg\?lzzﬁ:}gnz;i;' (B) Metallic character  (C) Metallic character (D) Metallic character

i i ins the same
~ increases from left remains the same remains
increases down the to right along a from left to right . o -
group period along a period

ich of the following is not soluble in water: .
> Whl(jllj) OSod?um Sulphate  (B) Potassium Sulphate (C) Zinc Sulphate

4) Boric acid cannot be used:

(D) Barium Sulphate

els and glazes
(A) As antisepticin medicine (B) For washing eyes (C) In soda bottles (D) For enam
i i because: .
i bed in water directly to form H2S04 N o .
¥ 302151;8) I};)}Eea]rjesao;i:n does  (B) The reaction is (C) The reaction 1s (D) SO; is insoluble in

i i ter
not go to completion quite slow highly exothermic wa

- ing chlorine over: ' )
6) Ble%(lj‘;glfég Iljo'wrieiar:l;gnzfepnzgl)m:iEt);d%ilsgt?“gs‘iphg; r(lc) Anhydrous calcium sulphate (D)) Calcium hydrox1de.
alciu

inati ber of Pt in [ Pt C1 (NO2) (NH;)4] is:
7 Coczlzc\l;n;non numbe AT 1 -

8) Absolute alcohol can be obtained by redistillation of rectified spirit in the presence of:
(A) NayO . (B) CuO (C) Agx0O (D) CaO
?) Aromatic compounds burn with sooty flame because:

(A) They have high (B) They have aring  (C) They have high (D) They resist reaction

percentage of structure percentage of
hydrogen carbon
10) The rate of E1 reaction depends upon:

(A) The concentration (B) The concentration (C) The concentration (D) The concentration

with air.

of substrate of nucleophile of substrate as well of eliminated group
as Nucleophile
11) Linear shape is associated with which set of hybrid orbital?
(A) sp (B) sp’ (©) sp’ (D) dsp?
12) Which compound shows maximum hydrogen bonding with water:
(A) CH;0H (B) CsH;;OH (C) CH3-O-CH3 (D) C¢HsOH
13) lodoform is prepared by the reaction of lodine with:
(A) Acetic acid (B) Formic acid (C) Acetone (D) Diethyl ether
14) Methyl Magnesium bromide combine with CO; to form
(A) Ethyl alcohol (B) Diethyl ether (C) Acetic acid (D) Acetone

15) Oils are glycerol esters which contain higher proportion of:
(A) Unsaturated hydro  (B) Saturated hydro (C) Unsaturated fatty (D) Saturated fatty acid

carbons components carbons components acid components components
16) Urea is a high quality nitrogeneous fertilizer. It contains about:
(A) 60% Nitrogen (B) 70% Nitrogen (C) 46% Nitrogen (D) 20% Nitrogen
17) Methane has a mean residence time of about years in the atmosphere:
(A) 2-5 years (B) 1-2 years (C) 3-7 years (D) 4-6 years
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%hem::ltlry (Subjective) (Group I) Paper (1)
1 : ;
me Allowed: 2.40 hours Sgeﬁi;{llf/——)_} Maximum Marks: 68
2. Aigrer nielly amey Biehbunrts o Qe Tolle ings:. :
4 y any liight parts from the followings:- 8 x2=16

Gi 2 3 y
b G;zz Zguaft;?;rl when ?orax is I}eated W%th NH4Cl (i) What is COD? Give its significance
o Wi is};}\/ urtzu;ietst'm A]utr_mn;um. (iv) Give the names and formulas of acids of Boron '
/) : -Fittig reaction? (vi) Convert toluene into b ic aci ‘
(vii)  Give the importance of Lipi i ili pn o, W 4
' ! pids. (Four points). (viii ion:
((1x)) What are isomerase enzymes? Give one exz)impge A P AL o
x) Differentiate between DNA and RNA. (T ints).(xi
) ‘ . (I'wo points).(xi) Ho i i i i
3(xu) Give the rc?k: of atmosphere gases for sustaining li)fe(z 011 earV:h\.)vater B rified by serasiont Discuss.
; i A\{x]lslwer brxf:ﬂy any Eight parts from the followings:- 8 x2=16
(ili)) g Vz t}lserczi is no free ‘otation around a double bond and a free rotation around a single bond?
ood is transfoimed into coal? (iii) Identify each lettered product in the following ree;ction

Br, Alcoholic

(iv) Write the test to check unsaturation in the ung‘;ggigde l;;c)lrcgarbléig .

(\? Give ‘fwo uses of ethyne. (vi) Why does aqua regia dissolve ol;;l?

(V.l'l') P,0s isa powerful dehydrating agent. Prove it giving two exam lis '
(xim) Descrl'be ” Ring test “ for the confirmation of presence of nitratff ior;s in soluti
((1:)) ggatlltsj 5:éiminationfreaction’? Give example. roon

e names of the followi :
(xi) Name three principle methodsl%\;/ér}llgeri?g{)gi?gsﬂg 2‘ p(e(é)}:? BARRr W) CHk

i . X :
(xii) Write names of four argillaceous raw materials used in manufacture of cement?

4. Answer briefly any Six parts from the foliowings:~ 6 x2=12

(i) Describe chromyl chloride test. Write its equation.
(i) Why does damaged tin plated iron get rusted quickly?
(iif)  What are chelates? Give an example. (iv) Convert acetaldehyde into lactic acid.
(v) Ethanol gives different products with Conc. H,S0, under different conditions. Write equations.
(vi) How is Bakelite prepared? Give its equation.
(vii) Write two reactions of ethanol involving the cleavage of O-H bond.
(viii) What is Fehling’s solution test? Write its chemical equation.
(ix) How does CH;COOH react with NaOH and NaHCO;?
Seetion -===-m--====- I
Note: Attempt any three questions. (8 x3=24)
5, (a) What are Halides? Name their types by giving two properties of each type.
(b) How do carbonates and nitrates of Li differ from those of other Alkali metals.
6. (a) Write down the construction and working of Beckmann’s method for manufacturing of bleaching powder.
(b) What is meant by “setting of cement”. Describe the reactions involved in setting of cement
during 1 to 7 days.
7. (a) What is hybridization? Describe the hybridization to explain the structure of alkynes in detail.
(b) Describe the mechanism of: (i) Halogenation of benzene. (ii) Sulphonation of benzene
8. (a) Describe the mechanism of Kolbe’s electrolytic method for the preparation of alkyne.
(b) By using Grignard reagent prepare:
(i) Primary alcohol  (ii) Secondary alcohol (iii) Ter. alcohol (iv) Alkane
9. (a) Explain the mechanism of the reaction of phenylhydrazine with acetone.
(b) Write down the mechanism of acetic acid and ammonia.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles ’will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordiagly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1

1) An element that has a high ionization energy and tends to be chemically inactive would most likely to be:
(A) An alkali metal (B) A transition element (C) A noble gas (D) A halogen

2) Group VI-B transition elements contains: :
(A) Zn, Cd, Hg (B) Fe, Ry, Os (C) Cr, Mo, W (D) Mn, Te, Re

3) Int-butyl alcohol, the tertiary carbon is bonded to:
(A) Two hydrogen atoms (B) Three hydrogen atoms (C) One hydrogen atom (D) No hydrogen atom
4) Keeping in view the size of atoms, which order is the correct one?

(A) Mg > Sr (B) Ba>Mg (C) Lyf>C¢ (D) C1>1
5) Which ion will have the max imum value of heat of hydration?

(A) Na" (B) Cs* (C) Ba* (D) Mg*
6) Which element belongs to Group [V-A of the periodic table?

(A) Barium (B) lodine (C) Lead (D) Oxygen
7) Laughing gas is chemically.

(A) NO (B) N2O (C) NO, (D) N204
8) Formula of chloroform is:

(&) CH5Cl (B) CCly (C) CHyCLy (D) CHCl3
9) Select the one which is a copolymer?

(A) Polythene * (B) Polystyrene (C) Polyvinyl acetate (D) Nylon-6,6
10) Which one is frequently used to disinfect water?

(A) Sodium chloride (B) Hydrochloric acid (C) Chlorine (D) Sodium hydroxide
11) Diammonium phosphate fertilizer contains how much percentage of nitrogen?

(A) 48% (B) 16% (C) 75% (D) 46%
12) During nitration of benzene, the active nitrating agent is:

(A) NO3 (B) NO," (C)NO, (D) HNO;

13) The rate of E1 reaction depends upon:
(A) The concentration  (B) The concentration  (C) The concentration (D) None of the above
of substrate of nucleophile of substrate as well
as nucleophile
14) Rectified spirit contains ethyl alcohol about

(A) 80% (B) 85% (C) 90% (D) 95%
15) Which one is not an alcohol?

(A) CH;0OH (B) CH;CH,OH (C) CH3;CH,CH,OH (D) CH;COOH
16) Primary alcohols are formed when Grignard’s reagent reacts with:

(A) Formaldehyde (B) Acetaldehyde (C) Acetone (D) Water
17) Acetic acid exists as in benzene:

(A) A dimer (B) A trimer (C) A monomer (D) A tetramer
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2.

(i)  Give any two points of differences of carbon from its family members
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Answer briefly any Fight parts from the followings:- 8§ x2=1
5 =16

((11‘3 le\/V}:a chérlr;istry of Borax bead test. (iii) What is chemical garden?
) Wha}t,i; 5 3 5;0132 .chrf:ct tf}e incoming substituent at ortho and par‘a position in tol
(ﬁ) et 1— ittig )eact.lon for preparation of Alkyl aromatic Hydrocarbon e
(i) Wh ekule support his theory about structure of benzene? Give t -
i) What gre thermo settinng polymers? Give two examples ’ WO points.
viii 5 .
(ix) WhZ: afeyc(;lrlbngg%:g( }S‘g’i? 01)’51;‘.17 _SUpport your answer with hydrolysis of lipids
. ; :s? Name their types. (x) Wh . 1S,
(xi) Mention two natural sources for releasepof m(etzlane ?1‘11 Zir: conditions for formatigg,olgop?

(xi
3.

(i)  What are heterocyclic compounds? Give two examples

i) Give difference betwe:n pri
( 2n primary and secondary pollutants wi i
Answer briefly any Eight parts from the followlzngs:- v one exampée :<n283cil60ase‘

(i) Why are organic reactions slow?

(iiiy What is Markownikov's rule? Give
. one example (iv) How i
(Sg) V\)\\J/r}lg ;re alkan?s called as paraffins? (viF)) W%:t) is (I){\;Vng é‘;fgaldehYde Y e from ethynet
own any four similarities between oxygen and
3 1 [ § s i .
(ix) Hc_>w are aptt—knockmg agents produced fror)(]ga!kyl halictileiapsi}?ur. G At
(x) D¥fferent§ate between nucleophile and electrophile.
(x.n') leferer}tlate between raicro-nutrients and macro-nutrients?
(xii) Enlist different stages for manufacturing of cement by wet ‘process'?

4.
(@)

6 x2=12

Answer briefly any Six parts from the followings:-
How are chromate jons converted into dichromate ions?

(i) What will happen when potassium dichromate react with (a) KI (b) FeSOq4

(iii) Define the co-ordination sphere with one example.

(iv

) Write the two reactions of alcohol in which ‘O—-H’ bond is broken.

(v) What do you Kknow about Williamson’s synthesis?
(vi) How will you convert methanol into ethanol.

(vii) Starting from aldehyde prepare Metaformaldehyde and Paraldehyde.
(viil) Write the Fehling solution test. (ix)Write down the mechanism of the reaction 0

Note: Attempt any three questions.

a

b

f acetic acid and ammonia.

Section ~=--=====—-=" 1
(8 x3=24)

(a) Whatare hydrides? Discuss their classification.
(b) Explain the peculiar behaviour of Lithium (Give eight points).
(a) Write down the reactions of chlorine with cold and hot NaOH
(b) What are fertilizers? Write any four essential qualities of good fertilizer.
(a) Define orbital hybridization. Explain sp” hybridization with the structure of ethene.
(b) What is Friedal Crafts acylation? Explain its mechanism.
(a) Write structural formulae of the following compounds.

(i) 3-Ethylpentane. (ii) 2,2,3,4- tetramethyl pentane.

(iii) 2,2-Dimethylbutane. (iv) 4-Ethyl-3,4-dimethylpentane.
(b) Draw eight possible structures that have the molecular formula C¢H;5Cl and also classify them.
(a) Writea detailed note on Cannizzaro’s reaction.
(b) Give the reaction of CHsCOOH with SOCl,. Also give mechanism.
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